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General Instructions :
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The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

Question numbers 4 to 7 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.
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Sponge is a solid , yet we are able to compress it. Why ?

R il SRt % A fafae foed s snaifes e g €

Name two cell organelles that contain their own genetic material.

= &1 fa & ey frm fafag)
State Newton’s third law of motion.

TF S H FH A 6 A9 W I R 1 w0 fafaw )

A wooden chair is a solid at room temperature. Give two reasons.

et ¥ FR F TR QAR F 50 mL e foran ok T R F e Fee

() iR e F i e e frerh o e 3w w@ § o faet T sen st

A a1 fE s AN il F smEdl B e ok sed sk st fae

et

(@) 0 o T e WS § et 1 g el 6 3R S 9 w5 e
anfr?

(b) % AR s & TR Hi gUeT Y ST ? S IR H g Fifw

Prachi took 50 mL of water in two beakers at room temperature and added

sodium chloride to one beaker while sugar to the other, till no more solute

would be dissolved. Then she heated the contents of the beakers and added

more solutes in them.

(a) Will the amount of salt and sugar that can be dissolved in water at given
temperature same ?

(b) What will you expect to happen if she cools the contents of the beakers ?
Justify your answer.

T =gt 3R T 3T g <INl @ e gt § R e St v @ frewfaa
w0 % for fafime g frt e Safeer 30 €)1 2 S F e w R e & fo
fafir Swe! =1 Sufeafs & < wro fafaw )

A horse and a mango tree both are complex living organisms with specialised
yet different tissue systems to perform the basic life processes. Give two reasons
for possessing different tissues to perform similar functions.

TRy 1 W fram fafae) ‘6w s W fafe)

State universal law of gravitation. Write S.I. unit of ‘G’.

(@) W fFum TF @ T F o @ A A arferes fredi w5 wwel e §
3 fafi ot Yot % o § A e € ® 1 Afesw wRom wm e
fore 5% o fafy gamw) w8 waw Yot & & v oft fafag

(b) fol QSRR wEe F AW fafaw)
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(a) A farmer wants to harvest more than two varieties at a time from his
crop field. He has no idea about the cropping patterns. Suggest him one
method to get the desired result. Also state three advantages of this
cropping pattern.

(b) Name any two fodder crops.

fafea woe HarT a9 % 9 wv fafew) e gadw F el # s e weR
AFR 7

State two advantages of composite fish culture. What is the application of
hormonal stimulation in fish culture ?

il 3 o s o R S s Set % wed § v # A s #
ST THARY |

Explain the inter conversion of three states of matter in terms of force of
attraction and kinetic energy of the molecules.

a1 % ! H YU FERIG FW gY VATE E TR 36 WHH w1 AW off
fafaa

Draw a flow chart showing the separation of components of air. Also, name this
process.

SR TR W A gu faee faeme T 1 2 s 3 g wed w g
e ]

Division of labour exists even at intra cellular level. Justify the statement by
giving two examples.

(a) e SR FiAwE #  Hifeer SETe s fafae )
(b)  few g e A A qen B WS |

|
|
\ |

\| e

(a) Write two basic structural differences between Parenchyma and
Collenchyma tissues ?
(b) Identify and name the tissues ‘A’ and ‘B’ from the given diagrams.
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(@) I IS W T S R e @ 7% @ R o e A sww den

R E DI D HER F I F AW fafay R sww @ w5 ety
1 e yem F H 7eE F:

(b) I IF Sl § ¥ R u # o ey o Rl @ il s i
HfT |

(a) Uma started walking fast when she noticed that some unknown faces are
following her. Name the two types of tissues which facilitated the
movement of her leg bones in response to the stimulus.

(b)  Draw the diagram of any one of the above mentioned two tissues and
label any two parts.

o oir forurem @ wftnfa Fifw) w fave 176 m iy 9t g o @ oo
afer 4 fome & @t e ®1 6 e wvea fave o e s #ifg |

Define distance and displacement. A body covers one complete revolution
around a circular park of circumference 176 m in 4 minutes. Find the
displacement of the body after 6 minutes.

ST IS A5 SN ST ST Tk SN & W W W AT SFEHA FSHAR A k1 feren
¥ fir St €1 g SR fafaw)

When a fast moving horse stops suddenly a careless rider falls in the forward
direction. Give reason for it.

1 R Ferrereen § forelt werdt & R Y 3R Fraa @ | e OE S ¥ 9w
10s % 800 m T g T At ¥ | FHHT T G FMAC| SR FW FHT FATA 800 kg
& 30 W T e o Y IR it |

A car starts from rest and rolls down a hill with constant acceleration. It travels
a distance of 800 m in 10 seconds. Find its acceleration. Also, find the force
acting on it if its mass is 800 kg.
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fereit oreg 1 S U1 9R R HI | ST S.1. A fafen | et Rt
T 1SS 20 kg § 1 TH TG H THH W GAAH 3R 9w Farern m 2
(FEAM Rg = 1.6m/s2 )

Define mass and weight of an object. Write their S.I. units. An object has mass of
20 kg on earth. What will be its mass and weight on the surface of the moon ?

(g on moon = 1.6 m/s2)

T R § o aeqd §2 AW A i e e # R germm sk e
T & 7ot F For iR B § oMl ¥1 T T 1 waE W e R wRe
HfT |

What is meant by acceleration due to gravity ? Suppose a planet exists whose
mass and radius both are half of that of earth. Calculate the acceleration due to
gravity on the surface of this planet.

()  Fr F fRe TR wEE SR § guR o ¥ 2
(i) %9 R FwE
(i) e qon sifere wfrvewa
(i)  SATIH STTHEA
(b) wEA R F g ¥ A e o areh @ fafir @ wftafi
Hfe |
(a) How do the following factors improve the crop yield ?
(i) shorten maturity duration
(i) biotic and abiotic resistance.
(i)  wider adaptability
(b) Define two methods of improving crop variety.
A4t / OR
st AT/ /w9 9§l TRdE Hit w e v e w6
() P F foae T F ITcreE R SR F A STRR SR aweh W @ fafE
ferfe |
(b) DY TR F A w fafag)
() Fefard & fer 7o iR Tt ST o womedt R wifiw § wawE Wit
Unpredictable monsoon / droughts / low rainfall is adversly affecting the
Indian agriculture.
(a) Mention any two initiatives that have been adopted to increase the
availability of water for agricultural purposes.

(b) State two advantages of making check dams
(©) Briefly describe canal and river lift system of irrigation.

(a) 7 % SR W e 3 Teth, el aen A # qer H ¢

(i) e
i) vl R
(i) @

(b) % ww fafe :
() e F e W e e ¥
(i) O B A S FT R
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Compare a block of wood, water and air on the basis of the following :
(i) Compressibility
(i) Particle motion
(iii)  Rigidity
Account for the following
(i) Gases exert pressure on the walls of the container.
(ii) Liquid can be called as fluids.
{gar / OR

At o S R 79§ @9 aren witeds fafae )
frer F ofiard % R AT BT SR RS WeRR vt Bt #2 ST SWR F

gfE Fif

(i) e

(i) g
(i) ST

Enumerate the change that takes place in a liquid during evaporation.
How is rate of evaporation affected by change in the following ? Justify
your answer.

(i) Temperature

(i)  Wind speed

(iii)  Humidity

ST FRANES B T | YU F F WA F @9 3R AHifwd o R
WA i R i |

Draw a labelled diagram to show the process of seperating ammonium chloride
from salt. Define this process.

@
(b)

(b)

39T / OR
arfaeh faera 3R fcfem § i i Sim getas Hif |
e & | oSl Hi vet :
HR Tohe foeem, gy, ¥en, Teen U, weed, W @ faoem, W
EduiicEc]

List any three differences between true solution and suspension.

Identify colloids from the following :

Copper sulphate solution, milk, smoke, muddy water, butter, sugar
solution, face cream, lemonade.

T fafer grI i 1 gEa wHie s = ut+%at2ﬂ?‘l’?3ﬁﬁﬂll

%1 R 55 8 18 km/h & 36 km/h T Tk TAH @Rd 81l 81 HR i @00
o 39 9§ 79 F 7 g ufiewfaa Fif)

Derive second equation of motion. S = ut+ % at? graphically where

the symbols have their usual meanings.

A car accelerates uniformly from 18 km/h to 36 km/h in 5 seconds.
Calculate the acceleration and the distance covered by the car in that
time.
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(ili) % BN A ¥ B T 79 H T G G R

Study the speed time graph of a body given below and answer the following
questions.

>

6
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33
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e
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time (in s)
(i) What type of motion is represented by OA, AB and BC ?
(i)  Find positive and negative accelerations of the body.
(iii)  Find the distance travelled by the body from A to B.

()  Ham w1 fram fafa ) wam #1s.1 A fafew ) 5

(b) R, T A 1000 kg ¥, T € et van F vw-gw F fawda fem
g @ R | HoE F TR Wedh 1 A7 5 m/s €1 g % 9% Afg Sl
TH-GR A IS W €, 7@ T WA o @ dm e

(a) State law of conservation of momentum. Write S.I. unit of momentum.
(b)  Two cars each of mass 1000 kg are moving in a straight line but in
opposite directions. The velocity of each car is 5 m/s before the collision
during which they stick together. What will be the velocity of the
combined cars after collision.
g4t / OR
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Look at the diagram above and answer the following questions :

(i) When a force is applied through the free end of the spring
balance A the reading on the spring balance A is 20 gwt. What
will be the reading shown by the spring balance B ?

(ii) Write reason for your answer.

(b) If a balloon is filled with air and its mouth untied, air is released from its
mouth in the downward direction. Write the other observations made by

you. Justify your answer.

WT-a / SECTION - B

T # safagen Bt den # sefeufs #i st §, o @ wfom fadm afz 7w % 1
e :

(a)  Wig HCI foreman sman &

(b) v o s

(c) i HpSO, fetrn wman &

(d) Wiz HNO; firemar sm &

To test the presence of adulterant material yellow in dal, we would get the

correct result if :

(a) Conc. HCl is added to the dal extract
(b) Water is added to dal extract
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(©) Conc. HpSOy is added to dal extract

(d) Conc. HNOg is added to dal extract.
e A gfeen @ F e & Freg # e fawen fiemn, S fw fa A @
feaman e @1 et B # frvgon ohn o @

(@) (b) A © (d
Rahul added iodine solution to rice extract which is milky white in colour as
shown in figure A . the colour of mixture in figure ‘B’ will be :

add I, solution
oo ARG e

Rice extract
Fig-'A' Fig-'B'
(a) Blue (b) Black brown (c) Blue black (d) Brown.

ot 1 TAH I FW GY, FO A oA F A FiE w1 o€ w1 @l A feem
% feIq Hi= H T FI STAM FA H FROE :

() I W H He HEAT

(b) M P EHE T

(c) st Som Y w@E

(d) e S B SR

While determining the melting point of ice Karan used a glass stirrer. The
purpose of using glass stirrer is to :

(a) help the fusion process

(b) keep the temperature uniform

(©) increase the kinetic energy

(d)  decrease the kinetic energy.

W& T FAGAR FT B b FA B BN GHE, T ST A I €, T ST
AIHH &
( orerd T &

(b) Ve R @ 3R R @ ®

(© i Y T St

(d) R A G R, FE WA F TH W

Page 10 of 15




[image: image10.jpg]29.

31

32

While doing an experiment to determine the boiling point of water, when water

starts boiling its temperature :

(a) remains constant

(b) first decreases and then increases

©) keeps on increasing as long as heating is continued

(d)  may decrease or increase depending on the place where the experiment
is being carried out.

JEUTH ToHH H YA F o R ST TH ¥
(a) SRS B9 AU STATSHRIS T

(b)  STSRiCT K9 a1 STETSHRie 3K

() Tl 59 qe Srereiel 2

(d) =T BE qn SETTRiT S
Sublimation process can be used to separate :
(a) Volatile liquid and non volatile liquids
(b) Volatile solid and non volatile solid

(© miscible liquids and immiscible liquids
(d) Volatile liquid and non volatile solid.
T faenet #1 o2 F wHEN B @ F e G wER  fean # ww T
Foremefi 3 Bfera foram »

() T SR faerE w

(b) T R fgon s &

(0 U H whdl A 3 At ¥

(d) 31U H T A B FAE R A F I

A student was asked to mix the white of an egg with water and stir well. The
student observed that

(a) a transparent solution is formed

(b) a translucent mixture is formed

(c) egg white settles down at the bottom

(d) egg white floats on the surface of water.

ST e SHHCHES 1 SN H T, 5

(a)  SETEn ¥ R T e

(b) A ¥R T =)

()  3TgA e § gL TEHA =y |

(d) SR FEwES A T TE A

In the laboratory, while handling carbon disulphide we should keep it away
from :

(a) flame (b)  carbon

(©) distilled water (d) iron sulphide.
wrfiferr o arg & Sioe, 1@ 3= A g | (@R TR :

() T (b) W © ¥ (d  Fwn
Magnesium ribbon burns in air to produce ash. The colour of the ash is :

(a) pink (b) grey (c) white (d) black
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o § Iufeer ewt TRt ¥ AR 1 S JuF B F a9 I fafu @
() el F T

(b) BT TS F ST FA

(¢  Faud el & e % we i HwE)

) fago = few § ™ w0

The most appropriate method for seperating iron filings from sulphur powder
present in the mixture is :

(a) hand picking

(b) using a bar magnet

(©) heating with water in a boiling tube

(d) heating the mixture in a china dish

T I % FIeT F FS T % T FR Tedhe faag § g @ fGead &
T H g e ufEd €

(a TRAATH () XY

() THeAAM (@ @A e

An iron nail was kept dipped in a solution of copper sulphate for some time.
Colour change in the solution is from :

(a) blue to light green (b) blue to red
(c) light green to blue (d) red to blue

I i et 1 ST WSS SR W, FfrRiel i s faan s & it
(a) Tt sifter gow fad

(b) i H T @)

() &% goreel H @ AR

(d)  hifreRTa FreEAd fafemied @ s

While preparing the temporary mount of onion peel the cells are stained in
order to

(a) make the peel more beautiful

(b) maintain moisture in the cells

(©) avoid the entry of air bubbles.
(d)  highlight the cell structures.

T Y faeett # i H1 i % A T I g9 w6 ©iRe W SRE
E?FITHT%Q:

(a) @ o o g T

(b) e g

(<) TS 3T & I (T )

(d) TS Y HiES TR R gaeh R

To observe cells in an onion peel we must prepare the slide by mounting on it :
(a) crushed pulp of onion
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(b) dry scale leaf

(c) green leaf of onion (Spring onion)

(d)  thin layer of fleshy leaf of onion

& ¢ faft ferdiwmmelianctt TSl 4 9, wFe wi R # wEe @ g
& forw, o ferdroamd =1 oo oo & @, 4 ¥

(a) Tafime e ol FeiiraTe gfea SR FivET

(b)  faftme et feq sr@mER S

() fafime e, W@ W < gaae St

(d) T Sfed HE O A Ta B

To identify the human cheek epithelial cell slide from the slides given, each
having different characteristics, the characteristic which you will take into
account for its identification are :

(a) rectangular cells with prominent nucleus and chloroplast.

(b) rectangular cells with prominent vacuoles placed side by side

(c) large flat cells with a prominent nucleus without vacuoles.
(d) rounded cells thick at corners having vacuoles.

T TGS HT J4T AT G0 HE W, AT A Te B Tewe Rechrgwr sk w1 |
S99 e S % AR Fafire waw e fhe) T B w ws e

()  TE FifrT fet Fifvrn fufs geeh @ )

(b)  fTERTE HHE WA B R

(©) T Hifrent § Uk et W@ suftera it #1

(d) SRR ST % T S HIREHT Faferd gt # |

After observing a slide under microscope Medha identified the slide as of
parenchyma tissue. She recorded four characteristic features of parenchyma
tissue. The feature which is not correct is :

(a) cells are thin walled and prominent.

(b) cells are thick walled at the corners

(©) a large single vacuole is present in each cell
(d) large number of cells are placed together with inter cellular spaces.

N T TRt g e g A e wwe M ) S fp A o A e
?1 S A R TR wmE ¥

() e el = (b) % R H

(c) et e (d)  oRFea i
Anuja observed a permanent slide of a muscle fibre under a microscope as
shown below. She identified the slide as :

Page 13 of 15




[image: image13.jpg]40.

41

42,

(a) striated muscles (b) cardiac muscles
(c) skeletal muscles (d) non striated muscles.

forufirell g0 sTaiifya s =t wfer 9 FW F FEN B FHW g T A qE@ 1

feraifireti 1 g 50 g W11 SER wR wvel & ferg R st # it ok fe @
S 80 g T | Fopifredt g srareifi st T i  :

@  40% (b)  50% ()  60% @ 70%
Raman while doing an experiment to find out the percentage of water absorbed
by raisins, measured the mass of dry raisins as 50 g. He soaked the raisins in
water for four hours and again measured the mass as 80 g The percentage of

water absorbed by the raisins is :
(@)  40% (b)  50% ()  60% d 70%

THG % T8 W feo T TG F ek 1 fawwn am % fg snevas Aad 5w 1
H I F F Y TR FAACR gon fKu T #) 9W FErier genst # aier sk
SreaaHis A A9 fen e @1 sww Fre § @ few FAEIGR gen w1 9 w2

(@)  uRER0-100 gwt ; STETTIF - 10 gwt

(b)  9RERO0-10 gwt ; STETAHIF - 1 gwt

() 9RERO0-10 gwt ; STETdHIF - 2 gwt

(d)  9RER0-100 gwt ; STETAHF - 1 gwt

Four spring balances are provided to find the minimum force required to just
move a rectangular wooden block lying on a wooden surface. Range and least
count of four spring balances are given below. Which of the following spring
balance will you select ?

(a) Range 0 - 100 gwt and least count of 10 gwt

(b)  Range0-10 gwt and least count of 1 gwt

©) Range 0 - 10 gwt and least count of 2 gwt
(d) Range 0 - 100 gwt and least count of 1 gwt.

ot &fest @t % AW W for SR % & 9N iR S8 fagen 9@ F fag 1
SEYE A I F A= Ty | FW F T 0 FArieR gen )
TR T FHHFIGR T F1 ST §
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In an experiment to establish relationship between weight of a rectangular block
lying on a horizontal wooden table and a minimum force required to move it. A
spring balance is provided. The least count of the given spring balance is

(b) 2gwt () 5gwt (d) 3 gwt

-00o0-
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